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Poule 1 Wedstr. Gew. Gel. Verl. Pnt. Voor Tegen Saldo Q ] & N N N = n §
44 29 36 35 28 43
1 St Sebastiaan 2 12 8 0] 4 16 462 402 510} | 1 [Doel naar Hoger 51 34 46 39 35 42
2 Zorgvlied 1 12 7 0] 5 14 426 373 53 39 30 20 35 31 24
3 Doel naar Hoger 12 7 0 5 14 462 421 Z¥8 | 2 |Spes Nostra 28 15 23 41 54 25
4 Spes Nostra 12 7 0] 5 14 376 367 9 29 34 35 44 11 37
5 St Sebastiaan 1 12 6 0] 6 12 400 400 0] | 3 [Zorgvlied 1 37 27 30 37 41 32
6 Willem Tell 2 12 5 0] 7 10 334 396 -62 51 23 36 39 31 38
7 Zeelandia 2 12 2 0] 10 4 303 404 -101 4 [Zeelandia 2 26 15 24 22 23 26
8 XX (0] 0] (0] 0] 0] (0] (0] (0] 31 32 46 32 22 28
5 |St Sebastiaan 2 | 39 39 44 31 33 43
35 25 33 25 37 26
\& 6 [Willem Tell 2 39 | 22 | 25 | 33 | 32 30
30 32 48 19 43 30
A 7 |St Sebastiaan 1 37 34 41 23 40 29
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Poule 2 Wedstr. Gew. Gel. Verl. Pnt. Voor Tegen Saldo @) = N 0N X N 0] R
43 36 36 31
1 St Sebastiaan 3 10 10 0] 0] 401 267 (&%) | 1 |Ons Genoegen 22 42 41 40
2 Ons Genoegen 10 7 0 3 327 320 7 0
3 Ravenstein 10 4 0] 6 314 325 -11 2 [Willem Tell 1 0
4 Zeelandia 1 10 3 0] 7 249 287 -38 29 26 18
5 Zorgvlied 2 10 3 0] 7 290 331 -41 3 |Zeelandia 1 33 0 34 42 24
6 Gastelse W club 10 3 0] 7 261 312 -51 32 27 21
7 Willem Tell 1 (0] 0] (0] 0] (0] (0] (0] | 4 |St Sebastiaan 3 40 29 38 41
8 XX 0 0 0 0 0 0 0 25 14 27 32
5 |Ravenstein 23 33 31 24
Sebastiaan2 95 - Ons Genoegen 69 31 0 21 30 38
Halve finale: 6 |Zorgvlied 2 26 | 0 | 24 | 27 | 28
Sebastiaan3 79 - Zorgvlied 1 81 24 13 39 | 29
7 [Gastelse W club | 31 16 22 24
Finale: Zorgviied 1 64 - St Sebastiaan 2 57 8 [XX




